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(1) Show that tls given fonction @ iz 4 selution of the differential equateon for any
choices 0f the constaots & and o,

wd 251} e d.:f:} Ca=0 e =ﬁ§.~, o e (159

1
(21 Find asologob of if-il:;ﬂ-l- Twilx) = an(2x} an the incervil {—,11 H.HH:I. (15 %)

20 Let Riny=reosfaan)d + rsinipa j be the position veclor of a parkicle maving in the

xy=plines, .
(a} Show that e anpguler spoed is o, LY
(b) Detering the accelersion vector afr) - (8%}

(4} Buaboate  § [2reost2y)di~227 (2] for every positively  oriented

piecewise-smeoth simple losed curve in the plane, (ES%E)

(5} Congider a simply supported beam subject o wniformly distibuted Lood
{gLx) =g, The length, the bending rigidity and the Nexural defoetion of e beam
are denoted a6 L, £F and y, respectively, ‘The goveming equation and the banntacy
conditians ars given by

4
ODE: H%=%.

BS W=y (0r=0,

YL} = ¥4L =1,
Solve for the flesoral doflection by vsing the Fouvier gine half-range expansion
method. (HI9)

(=) Find the siezdy-state teitperature disteibiogon for a Flate ¢xlénding over the right
quagiec-planc x &0, ye 0 The govemning cqoztics: and assoeiated boundary

conditions are given ag

H 2 -
FDE: %ij_ﬁ:n >0, yx 0,
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